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= )zTn ¢) YXn d) 98 SRPTE ©Y

28.X,5,6, 1,2 520030 ©03n¢ Se3xm) 24 swon X 3 S0

a) 4 b) 6 c)8 d) 10
29. 33 39N VRPYTI, IFOD FROT TR BWFDY.

a) ITEO b) =508 C) W3 d)0edT cSRPYTR ©Y

30. 83 39N TIONY TG0 50

a) 20 b) 30 "
c) 25 d) 60 =
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C15 — e s DACRENRE B FIFOND

1 r3uRy ogriecds SEbed, Qs

(A) 4mr? (B) 2mr? (Q) %Ttr3 (D) 3mr?
2. T HotR’ SBRY WIDHT WS T B ATW aﬁ*ms@éﬁeé BRBEHBA3RNT
(A) B0B D Reee (B) om0 RIT DB OTETRCS
(C) 20omT* DB Wity (D) Bo® =B AdowT®
3. TR Recens SN W 41 5 BT OYNE IR ﬁ:ec%é DYCEIFT WROTVI
(A)5:4 (B)4:5 (C) 16 : 25 (D) 25:16
4. 2,00 TIT Fpeos d:ee%é DyeedE 216 cm’ smen ©Es wous gy
(A) 8.cm (B) 2cm (C©)12cm (D) 6 cm
5. 2.0T3¢ gzss 0B ATT RROAT V0T , o HI WFF RRYT PIFONY HTI
(A)3:2:1 B)2:3:1 (©3:1:2 D)1:2:3
6.4 cm 2ITIY BoHIT PIFO 48N SRR JoBAT IR,
(A)6cm (B) 8 cm (C)10cm (D) 12 cm
7. 20T OOWIRLT HPHWHR) WTT OOV IRTAT 008 WOTH JREDF I WITeN YOO Py
(A) R (B) wpriees (C) x9omT* (D) zom

8. BoBHAT LB ATT FoRLRAINT TR,

(A) L= ViZ T 12 B)l=ViZ— 12 (C)l= K +12 D)1= h*— r2
9. 35 T4 & T, TR A h RrodDH YRS FIPOS 20
(A)v= énh(rlz + 12 +11y) (B)v= §7th(r12 + 12— 11y)
(C)v= %nh(rlz + 12 +11y) (D)v = énl(rlz + 12 +11y)

10. T3 wok 6 Fo.we BRONTLE Ine FIFI0H Reewn DT Dhed AWIRT WFrieeds NOF  wH

(A) 24 cm (B) 3cm (C)16 cm (D) 6 cm
11. 14 Bo.&ne mss@esé QTR T mwmsﬂ YN :bsgmdcs Tomwshedd Peckamen

YOO FTRE 300 a’mcﬁé QYT

(A) 616 23. Fo.ooe (B) 661 23 Zo.we  (C) 660 3. Zo.ave (D) 606 3. Fo.ooe

12. 2.0 MG@ESE&Q BN S030DTYN [TRWT [OTFFTY WTOONFB BN YVPOINT WO

(A) 533 (B) wazo (©) o (D) &,
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13. 2,00 BoBAT TTH DReeor 12 28, Bo.Q0e I T 3 F0.00e BTN JoDAT FIFOR)
(A) 12 . Bo.ewe (B) 5 . Bo.owe (C) 3 . Bo.we (D) 6 . Bo.ewe

14. £33 20 Fo.ne w3y &i, 7 Bo.we BT AOOBIT FIFY

(A) 3080 cm®  (B) 3080 cm? (C) 3080 cm (D) 3080 cm*
15. 0T RRAYT TIJ amolod: AT PIFOT 27 SR, %aagﬁcgd ¢ eSS gaér{e; TS
A) 1:27 B) 3:27 C) 9:81 D) 3:9

16. ROOTT® STTT ACTTIEROD 2.0TH 3:&03:539l BAPYRRPAT & ATT FRCIH 35 NS SRS PN
BRCTBHBOSTNG.

A) QTR ADOBT® 1ed B) 2domT B wiFiecy

C) 3o =) 2IoWT* D) RIF D, o TwnR AI0ET®

17. 7 Fo.o0e JuER, SRONHT wFrieedd Tpeor hed, yens

A) 462 cm? B) 294 cm? C) 588 cm? D) 154 cm?

18. 200 0BT, BRHINROR W md% TZTOZTRNDT WOT TBOT TROT FZOATN 0
THIOT .00 IEOHY LVOLRT 2306:56:4 BeTFR2, BDIOTW HBROW IRONY  LVVBNT FT

(A) 3oz I (B) Zo® (C) rOomT*® (D) Receg
19. w0%» a‘m%@oﬁa‘% 3R0TL ap‘m%@éo.ﬂmﬂ TOTIFATRN BWT TIFOH)

(A) Besrzcs (B) @03

(C) szBe FBUITDAOY (D) 2oES=RH3;

20. mﬁz 2 cm 3 23T 16 cm ¥ 2)60555?»4 FONR .08 M3 12 mwm&md TRRT. I3 Recv
més

(A) 4 cm (B) 3 cm (C) 2cm (D) 6 cm
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Cl- ARITHMATIC PROGRESSION by 9945145354
1) Ifa,=2n+ 3, then the value of asis.

A) 6 B)9 C)12 D) 27
2) The 10" term of an Arithmatic progression 5,9,13,,,,.,,..,is
A) 36 B) 31 C) 41 D) 21
3) If the n™ term of an Arithmatic Progression is 4n — 1, then the 8" term is
A) 32 B) 31 C)33 D) 13
A)a,=a+(n-1)d B)a,=a+(n+1)d
Ca,=a-(n-1)d D)a,=a-(n+1)d
5) Sum of first n terms of even natural numbers are.
A) n(n+1) B) n(n+2) C)2n D) 4n
6) Sum of first n terms of odd natural numbers are.
A) n(n+1) B) n(n-1) C) 2n D) n’
7) If the ™ term of an Arithmatic Progression is a, = 24 — 3n, then the 2" term is
A) 18 B) 15 C)0 D) 2
8) If the nth term of an A.P is 5n + 3, then 3" term of that A.P is
A) 11 B) 18 C) 12 D) 13
9) The sum of first n terms of natural numbers are
AP B o Dy
D) sn=§[2a+(n—1)d] E) snzg[a+(n—1)d]
F) Sp=>[2a+ (n+1)d] D) S, =Z[a+ (n+1)d]
11)Inan A.P ifa, =2n + 1, then the common difference of that progression is
A0 B) 1 C)2 D) 3
12) The sum of first 10 terms of an Arithmatic progression 5+8+11+,,,,,,,,, iS
A) 150 B) 200 C) 185 D) 155
13) If the n™ term of an Arithmatic Progression is a, = 3 + 4n, then the common difference is
A7 B) 3 C)4 D)1
14) If p,q,r are terms of an A.P, then (r — q) is equal to.
A) (r+q) B) (g-p) C) (g-n D) none of these
15) Sum of three terms of A.P is 9 and their product is 24, then the 3 terms are.
A) 2,4,6 B) 1,3,5 C)2,4,8 D) 2,34
16) (n-1)th term of an A.P. 7,12,17,22,,,,,,,,,iS
A) 5n+2 B) 5n+3 C) 5n-5 D) 5n-3

30

bkl QOTITICF BT 336D, TOBEHAT 330 QUDS, OB, BY, WOW, 2020 — 2021 wrrwbrmisiiti



17) The 10" term of an A.P-5,-10,-15,,,,..,,.,,,,-100 is

A) -55 B) -45 C) -50
18) The nth term of an A.P a,a+d,a+2d,,,,,,13151s11 IS

A) a+nd B) a+(n-1)d C) a+(n+1)d
19) If the terms of an A.P is 2x, x+10, 3x+2 then the value of x is.

A0 B) 2 C)4
20) How many terms from 2 to 100 are divided by 3?

A) 33 B) 19 C) 200
21) If a, =4n + 5, then the value of asiis.

A)5 B)9 C)13
22) If 2,x,14 are in A.P then the value of x is.

A)8 B) 16 C)7
23) If a, = 3n -2, then the value of 9™termis.

A) -25 B)5 C)25
24) The sum of first 30 positive integers which are divisible by 6.

A) 2790 B) 1550 C) 2700
25) The sum upto 20™ term of 2+5+8+.............

A) 600 B) 610 C) 620
26) The sum upto 10" term of 5+ 9+ 13 +.........

A) 150 B) 175 C) 185
27) The sum of first 20 terms of AP 5+10+15+.........

A) 1000 B) 1050 C) 1100
28) How many two digit numbers which are divisible by 3?

A) 29 B) 33 C) 99
29) Inan A.P a,=2n + 1 then the common difference is.

A0 B)1 C)2
30) The nth term of an A.P is a,=3n - 2 then the 9th term is.

A) -29 B) 29 C)-5

D) -65

D) a-(n-1)d

D) 6

D) 25

D) 17

D) 2970

D) 590

D) 230

D) 1150

D) 30

D) 3

D)5
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1)

2)

3)

4)

5)

6)

7)

C2 - TRIANGLES by 9880282725

Which of the following is not similar figures ?

A) All squares B) All circles

C) All rectangles D) All equilateral triangles
In two similar triangles, their corresponding sides are

A) in equal proportions B) not in equal proportions
C) always in equal D) None of the above

In this AABC , DE|IBC Then, AD/ AB =
A) AD/ DB B) AE / EC . :
C) AE /AC D) AB/ EC

In this AABC, DEI|IBC, AD =5cm, DB =4cm, AE = 8cm then, EC =

A) 6.5cm B) 6.2cm
C) 6.4cm D) 6cm

In this AABC , DEI|IBC, AD = 12cm, AE = 5cm, EC = 8 cm

then, AB=.....ccceevvenennne.
A) 31cm B)31.2cm . s
C) 32cm D) 31.5cm

In this AABC , DE|IBC, AE = 12cm, DB = 3cm, EC = 9cm then

A) 30cm B) 36cm
C) 32cm D) 45cm

In this ZABC=2AED=2ABC then, AB X AD = AC X ooocooevvrrvrren
A) DB B) AE
C) DE D) AD

The ratio of the area of two similar triangles is 25 : 81. find the ratio of the corresponding
sides of these triangles ?

A)5:4 B)5:9 C)16:81 D)4:9
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8) The ratio of the corresponding sides two similar triangles is 9 : 4 and find the ratio of Area of
these triangles

A)9:4 B)2:3 C)3:2 D) 81: 16

9) The area of two similar triangles , AABC & ADEF are in order 32 ¢cm? and 50 c¢cm?. Their
corresponding sides AB = 8cm, then DE =

A) 9cm B)10cm C) 11cm D) 12cm

10)  In this figure, which of the following similarity criterion we can use to consider AABC ~
ADEF ?

D

A) Angle Side Angle criterion

B) Angle Angle Angle criterion 2 5em Y, 15em
C) Side Angle Side criterion : \ E i
D) Side Side Side criterion )

11)In this figure AB || CD and AABE ~ ADCE and then, c
N =T/ o —
A) BE/EC B) EC/BE .
C) ED/BE D) DC/AB o

12) In this figure, in AABC , 2C = 90° then, apply the Pythagoras theorem
to this triangle

A)AB2=BC2-AC? B)AC2=AB2+AC?

C)BC2=AB2+AC? D) AB2=BC2+ AC?
13)In AABC, 2C =90°, AC =6cm, BC =8cm and then, AB =

A) 9cm B)10cm C) 11cm D) 12cm

14) Each one of the following is measure of the sides of a triangle, Which of the following is the
right angle triangle measures ?

A) 3cm, 5cm, 9cm B)10cm, 11cm, 12cm,
C) 6cm, 8cm, 10cm D) 8cm, 7cm, 13cm
15) Which of the following is Pythagoras triplets ?
A)3,4,6 B) 5, 12, 13 C)5, 6,7 D) 10, 11 12

16) In this right angle triangle , B = 90° , BDLAC, AC = 9cm, AD = 4cm and
then, AB =

A)36cm B) 6cm C)9cm D) 4cm
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17)In this AABC , «B = 90°, BDL AC, AABC ~ ABDC then BC 2 = A

A) AC X AD B) AC X AB
C) BC X DC D) AC X DC

sides in distinct points, the other two sides are divided in the same ratio. This statement is
A) Converse of Pythagoras theorem B) Pythagoras theorem
C) Thales theorem D) converse of Thales theorem

19) Two similar triangles AABC & ADEF, their corresponding sides AB = 5cm and DE = 4cm,
and area( AABC )= 50cm? and then area ( ADEF ) = ----------------

A) 50cm? B) 40cm? C) 32cm? D) 30cm?

20) In a triangle, if square of one side is equal to the sum of the squares of the other two sides,
then the angle opposite the first side is a right angle. This statement is

A) Converse of Pythagoras theorem B) Pythagoras theorem
C) Thales theorem D) converse of Thales theorem

21) A ladder is placed against a wall such that its foot is at a distance of 2.5 m from the wall and
its top reaches a window 6 m above the ground. Find the length of the ladder.

A)5m B) 10m C) 13m D) 6.5cm
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C3-PAIR OF LINEAR EQUATION WITH TWO VARIABLES by 9480735170

(@ax+by=c
(c)ax+c=0

(a) Uspton
(c) It maw stba

a) 3,45 b)3,54
a)l b) 2

5) Rap pd Rs14 br2 gd 3 pHaiia pd
tatorcarbdaby..

(@ xty=14 &-x=8
() 2x+3y=14 & x+2y=8

() Uspton
(b) Exactly tovetba
(c) It may stba

(a) Uspton
(c) It maw stba

9) Thrfgtda
(a) Usptbn
(c) Itk mawp stba

(b ax + by +czd =0
(d) ax+by+c=0;

(b) Exactly tavstbs

(d) Nostbn
c) 543 d )85
c) 3 d)4
Rs8 brogad tovpsTh

(b) 2x+2y = 1428 8
(d) 2x+y=14 & x+y=8

(d) No stbn

(b) Exactly tovstba
(d) Nostbn

X-2y+4 = 0 ad-4x+8y16 = 0 he

(b) Exactl tavstda
(d) Noston
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10) Match the following;

G _bi_a . :
a) ©-h-o (1) Unique solution
h)y L=t1pa (2) Infinitely many solutions
a; bz Cy
aq b1 .
C) —+— (3) No solution
ap bz
1) a—1, b—o2, ¢ >3, 1) a—3, b—l, ¢c—2,
I a—2, b—3, ¢ —1, IV) a—>2, b—l, ¢c—3,
11) Match the following;
A B
1) a—1, b—2, ¢ —3, 1) a—3, b—l, ¢c—-2,
i) a—2, b—3, ¢c—l, IV) a—3, b—-2, ¢c—l,
a)3 b) -3 c) 6 d)9

a) -4x -8y-6=0 b) +4x +8y+6=0 ¢c) -4x+8y-6=0 d)-4x+8y +6=0

15) The solution of the equations x =2 +yand y =4 —x is:
a)3and 1 (b) Land 3 c)2and4 d)4and 2

16) Anitha can row downstream 10 km in 1 hours, and upstream 2 km in 1 hours. Her speed of
rowing in still water and the speed of the current is:

(@) 6km/hr and 3km/hr (b) 7km/hr and 4km/hr
(c) 6km/hr and 4km/hr (d) 10km/hr and 6km/hr
a)(4,5) b) (-4,-5) c)(5,4) d) (-5.-4)

18) The angles of cyclic quadrilaterals ABCD are: A=(4x+20),B=(4x+5)°,C=(3y)°and D
= (4y-5) °. The value of x and y is .....

( Hint: In cyclic quadrilaterals, the sum of opposite angles is 180 °)
(@) x=20°and y = 20° (b) x=25°andy = 20°
(c) x=10°and y = 20° (d) x=20°andy = 25°
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19 ) The axis paralleltoy =3 is .........

a) X - axis b) y- axis
c) Both x-axis &Yy - axis d) None of these
20) The least distances of the point (5, 2) of y - axis is...........
a)?2 b) 3 c)5 d) 7
21 ) The point of intersection in the given graph is....
a)(1,2) b) (2,1)
c)(3,0) d)(0,3)
-
\
\
\
a) (1,0) b) (2,0) \\
¢) (0. 1) d) (0,2) ’ \\
23) The solution of equation 2x +y =5 are given in table below ....
X 2 0 X 25 |0
y 0 5 y 5 0
(@) c)
X 0 |25 x |0 |5
y 5 0 y 0 2.5
(b) d)

24) The pair of equations represents the graph........... :
(@x+y=4;& 2x-y=5 : //'/
b)x+y=2;& 4x-3y=1 e
c)x+y=3;, & 2x-3y=-4 //’"’/
(dx+y=4& 2x-y=2 i

25) If x = a, y = b is the solution of the equations x + y =8 and 2x — y = 7, then the values of a and b
are respectively

a) 3,5 b) 5,3 c) 8,7 d 7,8
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C4-CIRCLES by 9880328224

a) asah b) a tag C) ads d) a amal

2) The angle formed between tangent to a circle and radius drawn from the centre of the circle to the
point of contact of the tangent.

a) Right angle b) acute angle c) abtuse angle d) suplementary angle

3) Inthe figure,0 is the centre of a circle , AC is a diameter If Z/ACB =50° then find the measure of
ZBAC.

a) 60° b) 40° c) 70° d) 90°

4)  The maximum number of tangents that can be drawn to a circle from an external point are
a)0 b) 1 c) 2 d) infinite

5) Inthefigure BCisa
a) Radius b) Chord c) Diameter d)Secant

6) In the following figure , PA, PC and CD are tangents drawn to a circle of centre O, If AP=3cm
CD=5cm, then the lenghth of PC is

a) 3cm b) 8cm c) 5cm d) 2cm

a) a tangent b) a secant c) a radius d) a transversal

8) Inthe figure AB & AC are the two tangents drawn from the point A to the circle with centre o, If
tBOC = 130° then find LBAC.

2)50° b)70° €)60° d)40°

9) In the figure o is the centre of the circle PA & PB are the tangents to the circle If LAPB = 40° then
the measure of LAOB is

a) 90° b) 130° ¢) 50° d) 140°

10) Two circles of diameter 10cm & 4cm touch each other externally , Find the distance between
their centre.

a) 7cm b) 6cm c) l4cm d) 10cm

11) PQ & PR are tangents to given circle as shown in the figure , If [RPQ =90° & PQ = 8cm , find
the radius of the circle.

a) 8cm b) 4cm c) 6cm d) 10cm

12) In the figure o is the centre of the circle , AT & BT are the tangents at points A & B respectively,
If LOAB = 30°, then the measure of LATB is,

a) 30° b) 15° c) 60 ° d) 90°
13) In the adjoining figure , TP & TQ are the tangents to the circle with center o, the measure is
a) 90° b) 70° c) 110° d) 40°
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14) Tangents PQ & PR are drawn to a circle from an external point P If PQ=9cm & PQR=60° then
the length of the chard QR is .

a) 9cm b) 4.5cm c) 6¢cm d) 18cm
15) If the length of the tangent drawn to a circle from a point 5cm away from the centre is 4cm.its
diameter is.
a) 3cm b)8cm c)écm d)10cm
16) Length of the tangent drawn to a circle of radius 3cm from a point 5cm away from the centre is
a) 4cm b)3cm c)5cm d)2cm

18) Number of tangent drawn at a point on a circle is
a)2 b)1 c)infinite d)3

19) In the figure if BC is the diameter the value of X is.
a) 90° b)50° €)180° d)160°

20) In the figure PQ and RS is chord which are equidistant from the centre .If PQ=6cm then RS=
a) 5cm b)6cm c)8cm d)3cm
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C6 — CONSTRUCTIONS by 9964444622

@ 3 (b) 10 © 7 d) 12

@ A4 (b) A5 (© Al0 d) A9

3. To construct a triangle similar to a given AABC with its sides 2/5 of the corresponding
sides of the AABC, first draw a ray BX such that angle CBX is an acute angle and X lies on
the opposite side of A with respect to BC. Then, locate point A1, A2, A3,.... On BX at equal
distance and next steps is to join

(@ A7to C (b) A2to C (c)A5to C (dAd4to C

4. To construct a triangle similar to a given [1ABC with its sides 4/3 of the corresponding sides
of [JABC, first draw a ray BX such that angle CBX is an acute angle and X lies on the
opposite side of A with respect to BC. The minimum number of points to be located at
equal distances on ray BX is

(@3 (b) 4 (©7 (d) none of these

(a) 150° (b) 90° (c) 60° (d) 120°
6. In a pair of set, squares, one if with angles are
(a) 30 60° 90°  (b) 30° 30°, 45° (c) 75°, 25°, 80° d) 65°, 15°, 100°

(@ more than % of AB (b) less than %2 of AB

(c) equal to %2 of AB (d) two times of AB

0
8. To construct an angle of 22% , We

(a) bisect an angle of 60° (b) bisect an angle of 30°
(c) bisect an angle of 45° (d) none of these
9. To construct a triangle we must know at least its parts.
(@) Two (b) three (c) one (d) five

10. For which of the following condition the construction of a triangle is not possible:
(@) given two sides and angle included between them
(b) If two sides and angle included between them is not given
(c) If its three sides are given

(d) If one side and end angles of the side are given
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C7-CO ORDINATE GEOMETRY

1. The distance between a point to y- axis is called

by 9731337300

a) X co ordinate b) y co ordinate

c) Abscissa d) non of the above

2. The distance between a point to x- axis is called

a) X co ordinate b) y co ordinate

c) ordinate d) non of the above

3. The co ordinate point on x-axis is in the form of

a) (0,y) b) (x,0) c) (0,x) d) (X, y)
4. The co ordinate point on y-axis is in the form of
a) (0,x) b) (x,0) c)(0,y) d) (X, y)
5. The co ordinate point of origin is
) (0,y) b) (x,0) c)(0,0) d) (X, y)
6. The distance between ( X1, y1) & (X2, y2) coordinate points is
a)d=(x; +2,)%+ (y1 +¥3)? b)d = (x — x)°+ (31 —¥2)°
0)d= (x; +x2)%— (y1 +¥2)? dd=V(x; —x)*— (31 —¥;)°
7. The distance between (a, b) & ( -a, -b) coordinate points is
a)d = vJa*+ b* b)d=2vVa+b

c) d = 2a*— b* d) d = 2/a*+ b?

8. The distance between the origin & a point (p, q) is

a)d=+\p*—q¢* bd=yp*+q¢> cd=p+q

9. The distance between a point P( 5, 3) and x- axis is

d)d=p—q
d) 2 unit
d) 2 unit

Y1—Y2 )

a) 3 unit b) 4 unit c) 5 unit
10. The distance between the points (2,3) & (6,6)is
a) 5 unit b) 4 unit c) 3 unit
X1+X2 Y1 +Y2 X1 — X2
a) (T, 222y b)) (2=,
X1+Y2  X1tY2 X1-Y2
c) ( 2 !’ 2 ) d)) ( 2’
12. The distance between the point P(4, 3 ) & and y axis is
a) 3 unit b) 4 unit c) 5 unit

13. Which of these points lie on x -axis
a) (1,1) b) (2,0) c) (0,3)

2

X1-Y2 )
2

d) 2 unit

d)(1,-1)
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14. The distance between the origin & a point P(6, 8) is

a) 10 unit b) 8 unit C) 6 unit d) 12 unit
a) (5,4) b) (4,2) c)(4,3) d)(3,5)

16. Find the coordinates of the point which divides the join of (6,-3) & (6,8 ) intheratio 2:3
a)7:2 b)y2:7 c)6:4 d)4:6

18. Area of the triangle with points ( X1, V1), (X2, ¥2), (X3, Y3)
a)AreaofA=%[X1 (Y2-y3)+Xa(ya—Yy1) + X3 (Y2—Y1)]
b) Area of A=7[x1 (Y2~ Ys) + Xz (V3= Y1) +Xs (1= Y2 )]
¢) Areaof A =[x (Ys—y2) + X2 (V3= Y1) +Xs (1 - ¥2)]

d) Area of A =%[X1(y2-y3)+X2(y1—y3)+X3(y1—YZ)]

19. Find the coordinates of a point A, where AB is the diameter of a circle whose centre is ( 2, -3),
B(14)

20. If AD is a median of the triangle having A( X1, Y1), B( X2, ¥2), & C (X3, y3) points, and then
find the co ordinate of the point D ? A

xX1+x +
a)( 12 2, J/1ZJ/2)

X2+X3 Y2tYs3
b)) (22322, 22ty

+ +
C)(X1ZX3' J/1ZJ/3)

d))(x1;Y2, x1;y2) " :1
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C10 - QUADRATIC EQUATIONS by 9880282725

1) The standard form of a quadratic equation is

Q) ax* +bx =0 byax?+bx+c=0 c)ax*+bx=c dyax?*+b+c =0

2) Which of the following is a quadratic equation ?
Q) x*+3x=x*-5 b)x+3y=-5 c) X} +2x= 2 d)x+z = X
3) Which of the following is not a quadratic equation ?
aQ)x*+3x=-5 D) x*+x =x*+3 ) X*+2x+ 2=0 d)x+§ =5
4) The standard form of the quadratic equation x> + 3 (x —1) =- 5 is
Q) x*+3x-6=0  b)x*+3x+2=0 ) x*+3x-2=0 d) x*+3x+2=0
5) The standard form of the quadratic equation x = % - 5is
A x*+5x-2=0  b)x*-5x-2=0 c) x*-2x+5=0 d) xX*-2x-5=0
6) Sum of two consecutive odd natural numbers is 172. The equation form of this statement is
Q) x> +H(x—3)*= 172 b) x* +(x+2)°= 172
¢) X* H(x+1)*= 172 d) x* +(x-3)2= 172
7) !Z)ifference between a positive integer and its reciprocal is 5. The equation form of this statement
is
Q) x*-5x-1=0 ) x*-2x+5=0 ¢) x*-5x+1=0 d) xX*-2x-5=0
8) In finding the roots of the quadratic equation x* + 3x - 10 = 0 by the method of factorisation, the
middle term +3x can be written as
Q) X*+2x +x-10=0 b) X*+3x - x-10=0
c) x*+5x -2x-10=0 d) x*-5x +2x-10=0
9) The roots of the eqution (x +3) (x-5)=0is
a)-3or-5 b) 3or-5 c) 3orb5 d)-3or 5
10) The roots of the eqution x* - 5x + 6 = 0 is
a) 3 or?2 b) 3 or -2 c) 5or -6 d)-3or5
11) The roots of the equation x*-6x +9 =0 is
a) +3or-3 b)—3or-3 c) +3or+3 d+9
12) The formula is used to find the roots of the quadratic ax? + bx + ¢ = 0 iis
a) xz—aiW b) xz—bix/zbaz—ﬁ
0)x = —cix/zbaZTbc d) x = —bix/zbaZTbc
13) The roots of the quadratic equation x*-5x+1=01is
2) x =5 J_;\/% b) x=5i22\/§ C)x=—5i23\/§ d)x = Sizx/ﬁ
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14) The roots of the quadratic equation x*—-5=01is

a) +£5 b) £V5 c) +25 d) +2
15) The roots of the quadratic equation x*—25=0is
a) +£5 b) £V5 c) +25 d) +2
16) The roots of the quadratic equation 9x*—25 =0 is
8) + 3 b) + = ) += d) + =
17) The roots of the quadratic equation x*-2x =0 is
a) 0 or2 b) 0 or 4 c) 0 or -2 d) 1or -2
18) The discriminant of the quadratic equation ax® + bx + ¢ =0 is
a) b’ - 4c b) b® + 4ac c) b*- 4a d) b® - 4ac

19) The discriminant value of the quadratic equation x*-3x+1=0is
a) 3 b) 4 c) 5 d 9
20) If b>— 4ac >0, The nature of the roots of the quadratic eqaution ax? + bx + ¢ = 0 is
a) equal and real numbers b) distinct and real numbers
c) no real numbers d) non of the above
21) b?— 4ac = 0, The nature of the roots of the quadratic eqaution ax* + bx + ¢ =0 is
a) equal and real numbers b) distinct and real numbers
c) no real numbers d) non of the above
22) The nature of the roots of the quadratic eqaution x? - 5x + 7 = 0 is
a) equal nad real numbers b) distinct and real numbers
c) no real numbers d) non of the above
23) If the roots of the equation x* - 6x + k = 0 are equal, then the value of k is
a) 8 b) 5 c) 6 d 9
24) 1 2x%-kx + ; = 0, then the value of ‘k’ is

a) +£2v3 b) +3v2 c) +2 d) +6
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C11 - INTRODUCTION TO TRIGNOMETRY by 9945918990

1) The value of sin 60°X cos 30° is

OF (b) 2 (©)2
2) The value of tan 6 - cot(90° — 0) is
(@) 0 (b) 1 (c) 2

3) 3)Inafigure, B=90°, A = C = 45° and BC = 10cm then the value of tan 45°

(2)0 (b)1 (c)10

4) The value of sin(90° — 6)

(@)sin @ (b)tan 8 (c)secd
5) The value of tan 45°
(a) V3 (b) 0 (©1

6) 15 cotA =8 then the value of tan 4 is
8 15 15
@ (0)~ ©

7) sinf = g and cos 6 = g then the value of sin?6+ cos?6

(@) 0 (b)1 (c)2
8) The value of sin 30° + cos 60°

(a) (b)2 (o)1
9) The value of sin90° + tan 45°

(a)0 (b)1 (c)2
10) 13 sin@ =12 then the value of cosecé

(8)— (b)12 (0)3
11) The value of Sec?26° - tan?26°

(a); (b)o (0)2
12) If 6 is an acute angle then % is equal to

(@)sech (b)cot @ (c)tan @

13) If tand = % and cosf = % then the value of Sing is

(a)V3 (b); (©)%
14) The value of Sec?60° - 1
(a)2 (b)3 (c)4

(d)
(d) V3

(d)2

(d) cos 6
OF=
(d)=2
(d)V2
@)
OF
(A)=
(d)1

(d)cosecd

(d)>
(d)5
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15) The value of (1-Sin?0) Sec?6

()2 (b)0 ()1 (d)3
16) he value of tca:; zg
(a7 (b) 7 (c)V3 ()1
17) The value of cot(90° — 9)
(@)cotb (b)—cotb (c)tan6d (d)—tané
18) 2 cos 36=1 then the value of 9 is
(a)10° (b)15° (c)20° (d)30°
19) In 4ABC, B = 90°, AB=24cm,BC=7cm then the value of cosA is
(@)% (b); (©)z 0
20) The value of Sinfcos(90° — @) + cosBSin(90° — 6) is
(a)0 (b)1 (c)2 (d)>
21) The value of sin 75°-cos 15°
(a)1 (b)60° ()0 (d)90°
22) The value of 2tan?45° + cos?30° - sin?60°
(a)2 (b)o (©1 (d)3
23) In the given figure,the value of 2sinB A
(a)2 (b)2 (©)= = 3

24) Which is the correct relationship given below?

(a) tan?H+1=sec?6 (b) sin?0=1+cos?6

(c) sin?6=1-cos?8 (d) cot?6=1-cosec?8
23) If sin 8=cos 6 then the value of 6 is

(3)45° (6)60° (©) 90° (d)180°
24) 26)If sin 8=cos 6,then the value of cosecf is

(a)2V/2 (b)v2 (€)—2V2 (d)-13
25) 27)The value of &°

(3)360° (6)90° ()180° (d)75°
26) 28)If tan® + cotf = 5 then the value of tan?6 + cot?8 is

(3)5 (b)23 (©)25 (d)10
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27) The value 1 + tan5°.tan85°
(@1 (b)2 (c)0
28) If A+B=90°,cotB :Z, then the value of tanA is
3 4
(@), (b); ()

29) If SinAzé, then the value of cosA is

@3 ()2 ©2
30) The maximum value of sin 8 is

(a)0 (b)1 (€)2
31) If Sin2A=2SinAthen the value of A is

(a)90° (b)30° (c)45°
32) If 3tan #=v/3,then the value of acute angle is

(a)60° (b)30° (c)45°
33) If cos2A=sin(A-15),then the value of A is

(2)85 (b)5 (€)35

(d)None of the above

(d)

(@22

(d)3
(d)o°
(d)90°

()53
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C12 - APPLICATIONS OF TRIGONOMETRY by 9945918990

(a)Line oBilt (b)@riginta@ibt
(c)AnE o@®E@tion (d)AnE o@lepression
(c)AnE oZ@ation (d)None o®he abo&

3)Izhe BhEh othe shado® tree is decreasin@hen the anB o@Bation is
(a)Decreasin (b)Increasin@ (c)Remains the same (d)None o®he abo&

4) The anB o@ation o®he top oz b#lin®om a point on the Ebd Biclaiy30
Ebom the Bot o bElin@s° then the height of the building is

(a)10m (b)j—zm (C)\l/—;m (d)3om

5) If the height and length of the shadow of a man are equal the angle of depression of sun is
(a)45° (b)60° (c)90° (d)120°

6) If the angle of depression of an object from a 75m height tower is 30° the distance of an
object from the tower is
(a)25v3m (b)50v3m (c)75V3m (d)150v3m

7) If the angle of elevation is 60°,then find the ratio of the height of a tree with its shadow is
(a)V3:1 (b)1:v3 (c)3:1 (d)1:3

8) If the height of the building and distance from the building fools to a point is increased by 50%
then the angle of elevation on the top of the building
(a)Increases (b)Decreases (c)Remains same (d)None of the above

9)The ratio of the length of an iron rod and its shadow is 1: V/3,then the angle of the
Elevation of the sun is
(a)90° (b)45° (c)30° (d)75°

60°.Find the distance between the two men (V3 = 1.73)
(a)173m (b)1730m (c)1.73m (d)17.3m
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below the horizontal level is
(a)angle of depression
(b)angle of elevation
(c)right angle
(d)equal angle

In this given figure the positions of the observer and the object are mentioned.

12) Angle of depression is
(a)30° (b)60° (c)90° (d)45°

13 )Find the height of the building
(a)V3 (b)1 (c)10vV3 (d)10
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C13 —STATISTICS by 8722660192

1) Mode is the
a) Maximum Frequent Value b) Least frequent Value
c) Middle Most Frequent Value d) None of the above
2) One of the methods for determining mode is
a) Mode = 2Median — 3Mean b) Mode = 3Median — 2Mean
¢) Mode = 2Mean — 3Median d) Mode = 3Mean — 2Median
3) Mean of Grouped data is
)5 b) &% ) 2L 02
4) If Mean and Median are 3 and 4 respectively, then the Modeis
a) 12 b) 6 c) 2 d)3
5) Minimum value in a class interval represents
a) Midpoint b) Upper limit c) Lower limit d) Range
6) Inaclass interval, the value got by adding upper limit and lower  limit and dividing it by 2 is
a) Midpoint b) Mode c) Range d) Median
7) The Mode of the data 2,6,4,5,0,2,1,3,2,3 is
a) 6 b) 28 c)0 d) 2
8)
Cl 0-10 10-20 20-30 30-40 40-50
f 20 30 24 40 18
The lower limit of the Modal Class is
a) 24 b) 18 c) 30 d) 0
10)
Cl 0-5 6-11 12-17 18-23 24-29
f 26 20 30 22
The upper limit of the Median class is
a) 17.5 b) 5.5 c) 23.5 d) 29
11)
Cl 0-10 10-20 20-30 30-40 40-50
f 3 9 13 10 5
The number of students who have got marks less than 30 is
a) 40 b) 3 c) 25 d) 35
12) If the mode of a data is 18 and the mean is 24, then medianis .
a) 20 b) 21 c) 22 d) 23
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13) .

Variable(x) 10 15 20 25 30
Frequency 7 3 4 K 1
If the sum of all the frequencies is 24, then the value of K is
a)7 b) 9 c)1l d) 15
14) The Median of frequency distribution is found graphically with the help of
a) a histogram b) a frequency curve
c) a frequency polygon d) ogives
15) The Range of the Class interval 35-40 is .
a) 75 b) 5 c) 40 d) 37.5
16) The graphical representation of a cumulative frequency distribution is called
a) Bar graph b) Ogive
c) Histogram d) Frequency polygon

17) Two ogives less than and more than type for the same data intersect at the point ‘P’. The y-
coordinate of ‘P’ represents

a) Mode b) Median

¢) Cumulative frequency of the median class d) Range

18) It is assumed that the frequency of each interval is centered around its

a) Mid-point b) Lower limit

¢) Upper limit d) None of the above
19) Which of the following are the values of Central tendency?

a) Range, Mean, Median b) Mean, Mode, Median

¢) Range, Median, Mode d) None of the above
20) The Mean of the following data is 7, 5, 6, 10, 8, 12

a)7 b) 48 c) 6 d) 8
21) The Median of the following data is 14, 18, 10, 12, 19, 16, 9, 13,7

a) 14 b) 19 c) 16 d) 12
22) If the Mean and the sum of the scores (})) of a given data are 8 and 120, then the number of

scores is
a)8 b) 12 c) 15 d) 10

23) The formula used to find the mode of the given data is

f1-f0 f1+fo

a) = 2f1—f0—f2] xh b) L + [2f1—f0—f2] xh
f1-f0 fi-fo

c) L+ [2f1—2f0—f2] xh d)l+ [Zfl—fo—fz] xh
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23) The formula used to find the Median of the given data is

a)l+[g_fcf]xh b)z+[§+fcf]xh c)l—[g_fcf]xh d)l—[g;cf]xh
24) The midpoint of the class interval 10-20 is

a) 10 b) 20 c) 30 d) 15
25) The Y fixi =220 and Y fi = 11, the Mean will be

a) 20 b) 22 c) 231 d) 11
26) If xq, X9, X34eeevveninnnnn , X,, are the observations of a given data. Then the mean of the

observation is
) Sum of observations : b) Total number of obse'rvations
Total number of observations Sum of observations

¢) Sum of observations + Total number of observations
d) None of the above

27) If the sum of the frequencies is 24, the value of X in the observation X, 5, 6, 1, 2 will be

a) 4 b) 6 c)8 d) 10
28) Which of the following cannot be determined graphically?
a) Mean b) Median c) Mode d) None of these

29) The Median of Graph is
a) 20 b) 30
c) 25 d) 60
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C15 - SURFACE AREAS AND VOLUMES by 8748993040
1) The curved surface area of a solid hemisphere of radius r is

(A) 4mr’ (B) 2mr? (©) 2’ (D) 3mr?
2) A shuttle cock used for playing badminton has the shape of a combination of
(A) a cone and a sphere (B) frustum of a cone and a hemisphere
(C) a cylinder and a hemisphere. (D) a cone and a cylinder.
3) The ratio of the radii of two spheres is 4 : 5. Find the ratio of their total surface areas is.
A) 5:4 (B)4:5 (C)16: 25 (D) 25 : 16
4) If the total surface areas of a cube is 216 cm? the length of its edge is equal to
(A)8cm (B) 2cm (C)12cm (D) 6cm
5) A cylinder, a cone and hemisphere are of equal base and have the same height the ratio of their
volumes is
A) 3:2:1 B)2:3:1 (C)3:1:2 (D)1:2:3
6) The volume of a cone of height 4 cm is 48z cm3 the radius of the cone is
A) 6cm (B) 8cm (C)10cm (D) 12 cm
(A) sphere (B) hemisphere (C) cylinder (D) cone.
8) The formula to find the slant height of the cone.
(A) I = Vr2 + h2 (B)l = vVrz — h?
(C)l= h?+1r? (D)l = h?— r?
9) The volume of a frustum of a cone of height h and ends radii ryand r, is.
(A)v= %nh(rl2 + 12 +11y) (B)v= %nh(rlz + 1% — 11y)
(C)v= %nh(rlz + 12 +11y) (D)v= gnl(rlz + 12 +1m1y)

10) A cubical block of side 6¢cm is surmounted by a hemisphere, then the greatest radii of the
Hemisphere is

(A) 24 cm (B) 3cm (C) 16 cm (D) 6 cm
11) Two hemispheres of diameter 14cm are joined together on their cylindrical bases, Then the
surface area of the resulting solid is

(A) 616 cm? (B) 661 cm? (C) 660 cm? (D) 606 cm?
(A) Height (B) volume (C) length (D) radius

13) Area of the base of a cone is 12 cm? and its height is 3cm ,then the volume of a cone is
(A) 12 cm® (B)5 cm® (C)3 cm® (D)6 cm®

14) The height of the cylinder is 20 cm and radius is 7cm the volume of a cylinder is.
A) 3080 cm® B) 3080 cm? C) 3080 cm D) 3080 cm*

15) The volume of one sphere is 27 times that of another sphere. Calculate the ratio of their radii.

A) 1:27 B) 3:27 C)9:81 D) 1:3
16) A cylindrical pencil sharpened at one end it is a combination of.

A) Two cylinders B) Hemisphere and cylinder
C) Cone and cylinder D) Frustum of a cone and cylinder
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17) The total surface area of a hemispherical solid having 7 cm radius is.
A) 462 cm? B) 294 cm? C) 588 cm? D) 154 cm?

18) A cone is cut through a plane parallel to its base and then the cone that is for medon one side of
that plane is removed. The new part that is left over on the other side of the plane is called

(A) a frustum of a cone (B) cone
(C) cylinder (D) sphere

19) During conversion of a solid from one shape to another, the volume of the new shape will
(A) increase (B) decrease (C) remain unaltered (D) be doubled

20) Twelve solid spheres of the same size are made by melting a solid metallic cylinder of base
diameter 2 cm and height 16 cm. The diameter of each sphere is

(A)4cm (B) 3cm (C)2cm (D) 6 cm
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A) 13/12 B) 5/12 c) 12/13 D) 5/13
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A) 12 cm B) 15 cm C)8cm D)9 cm

30. NCTWY ARNTRI 2302 AABC & APQR ¥ AZFI30N) FjedeoN 60cm
@Dég‘, 36cm YW PO=9%cm 3T AB O 9¥3

A)6cm B) 10 cm C)15cm D) 24 cm

31. 20T 333 T, 20T W5 LOTeI)OT P ONWIITIT NOR,
R JEFNY BOB350300
A) 1 B) 2 03 D) 4

32. 33,33 DV YsNY ST FRCSey) 100° e3NT 3, 24T
DN T B, JEFINY STWIIS TRCS 0R,,

A) 50° B) 60° C) 70° D)80°

33.333¢). 5 cm . aNI), 13 cm. sedTIS DT A ! B
HTTCODLOH 53,371FE). 233, 53,337, R,DERT03, v
BRTW, 3,31, YT 05T VT,
A) 12 cm. B) 24 cm. C) 6 cm. D) 18 cm
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34. 205 2DOTNINOT 353 TFLOWT NPT AP &, JETNREN
AN NTEH T, OT) AR WFRIES A3 Man30 O

A) 2303 TS L30T B) TP 23030 TRES

C) 23030 2T/ 29T/ D) ©0WTRLS JTLIE 293D

35. AT YNENEY 9[0T TRLCSNE AeDeNE 3, €3 320%NneH
A) RBERDDNHTY  B) AeN0NTIH)T
C) AW NTPTY D) AeDTRe830NBIeH)T3)

36. 27 R.80.e¢. PR eITE 2,07 ADOBT® €3T9TT @0 3)0DC).
30203083 TR, LITWTERL 3T 203, I)%5e3:3), BRODTIE JORRS W31
3502202303 RIDCAHENT. FOBITD.B0S O )30

A) 81 &.80.e3¢ B) 9 3.80.e0¢  C) 27 .80.NC  D)13.5 &3.F0.eC
37. B0 D, TR FTREIE o083, 3 JALEIE I, TOTITBOINET RR3I,
A) %(r12+r22+r1) B) (ri+r2)l C) ml(ri+rz)+mri2+mr? D) mtrl

38. 20T 23,303 BOPOD 9¥3 44 cm €333 e9TIT Ij2539)

A)7 cm B)14 cm C)21 cm D) 28 cm

39.7 cm 33eIT0E 2,03 SREBTI AD 0BT, IR, 3)28500Te3 SOTHIoN
BDRIERING, 8 FOTeIS 3T

A) 7cm B) 14 cm C) 21 cm D) 3.5cm
40. 2,073 AD0BOISD) 8j2s5(r)=ed3.B(h) e9TT 9TWT HFIF
A) tr3 B) 3 i3 C) 4 nr3 D) 2 13
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wszow23 23D TN, Joed 2020 — 21 [TO IF.J8F — 05
2} P o=

AT @Iy Modes : ned3 & 81 K ®OIN : 40
by : 9880282725 TO® 1 1 nod

1. 8@9@35 BRe3TeoNe WEReRNTIT 3X-y-3=0303 6x+ky-2=0 nd @2(;96303:634 CACltalate
ks Scdose

A) 2 B) -2 0 3 D) 1

2. 8@9@35 Bwezsed 2X+y-3=0 B x=1wwen y & BSsn

A) 5 B) -1 C) 3 D) 1
3. x+y =9 &x-y =18¢m3§ [NCTTED TOTITNED
A)x=5y=4 B)x=4,y=5 C) x=9,y=0 D) x=3,y=4
4. 33 IBNT el 8@5@3&5 TReITLINYY TTTT TR3003T SeBNTerdss B eFTEANEy
A)x-2y= 0 B)2x+3y=9 C)x+2y=4 D)x+y=8
3x+4y =20 4x + 6y = 18 2x+4y =12 x-y=4

5. 2, 3x, 10 ¥ "=0osT FReHOTB, x 8 WSk

A) 3 B) -2 Q) 2 D) 4
6. 1,5,9,13......... 3=RO3T BB MERT, FITED)
A) 1 B) 4 C) -4 D) 5

7. 0T BTR03T FeREH n Ve ITP ap=4n -3 <n3 Az 0 BSemw

A) 9 B) 12 C) 15 D) 11
8. wOTD ITPOIT FeROD IRTY TR I[NE e 39 Tene MWTRT, FIX 4 ST RTNC
Caln )
A) 13 B) 17 C) 9 D) 15
9. 2,00 ARROIT FROHO IRTFO N BN TINT F0T ForbLRCHL WIHE AR
A) Sp=Z[a+ (n-1)d] B) Sa=Z[2a+ (n+1)d]
C) Sa=2[a-(n-1)d] D)Sa=2[2a+ (n-1)d]

10.x = ; - 5 ORy, TNFFRCITT STIE TRITY W3oWwd

A) x> +5x-2=0 B) xX*-5x-2=0 C) x*-2x+5=0 D) x*-2x-5=0
11. ax%+ bx + ¢ = 0 IRFRWCITIT 3RCFTR)
A) b2 -4bc B) b?-4bc C) b?-4ac D) b2 + 4ac

12. X2-3 =0 SIRTZNCITOT sHRONY
A) £3 B) ++3 C) +9 D) +1
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13.

14.

15.

16.

17.

18.

19.

20.

21

22.

x?-2kx +5 =0 InFE0eITT RN BhmentS kS s

A) +2 B) ++5 C) +5 D) £3
sinf =4 =3 cosf =5 =33 tan 0 8 33 a?
4 4 3 5
A)E B)g C)E D)Z
cos 23°
A) 0 B) 1 g - D) 2

sin (90° - 0) =% wa8 0
A) 30° B) 60° C) 45° D) 90°

33 ONT SBRCT IO JFZIeITINLY | ITPATLE FWeTTLD IR ?

A)sin® x +cos’x =1 B) tan’x—sec’x=1

C) cosce’x —cot’x =1 D) 1 — sin’ = cos’x

w3ROS AABC c39, £€=90°, AC=7cm, 0 =45° BCod waw \
A) 7m B) 5m

C) 5V2m D) 7v/2m

(5,-3) &3y (-1, k) dderzo03 WOTRER,, BeoDm BeasoRT DFROTHIT QderzoTR) ( 2,
-5 ) =u38 k 8 8333w
A) 7 B) -5 c) -7 D) 2

SECHOT WODWIR JTeFTOTR) !

A) (2,3) B) (-2,3) R R RS AT AR TRREETRRRE’
C)(2,-3) D) (-2,-3)

( X1, Y1) &3 (X, Y1) DBETT00% WOTNRY SRIT TRTF)
AV —2)2 = (y1 —¥2)? B) V(X1 +2)°— (y1 +¥2)°

Q) V(xs —x)2+ (v —¥2)° D) V(%1 +x)% 4 (y1 +72)°

(0, 0), ( 0, 4) 03 (3, 0) JTeFTP0F WOTWWNE 2.0 FDHWTW ATWCFITVOFT WOTPNRTITT RRT
DRLEIF)

A) 4 sq unit B) 7 squnit C) 6 squnit D) 4 sq unit
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23. geoReod TFIok WYSNTE WIOVE, THRET DI FTERORYNTE FowoTH)

A) 308 =2 X BHYOF — 3 X BoeRO B) eo@es =3 X &5e08 - 2 X

N[eplte)

C) w®08 =2 X 00RO — 3 X BH08 D) y®es =3 %5050 - 2 X
asaz:oéos

24. InerFB TTOBNE WTDOT FORLRODL WEHT BRTH)

_ fi—fo = _Nih
A m0e = 1+ (70 ) xh B)mmos = I+ (75 ) xh
_ fim fo =4+ (Ll
C)Z)D@ZSO%— I+(m)Xh D)mmsos_l-l-(ﬁ—fo—fz))(h

25. Wy ;)mﬁt;s?oﬁo 2,00 aaeg R 50 wosneR ssqcszsegﬂ 44, ne3zTY 40, BIPB sazs@agdg 48
ROV, &mé% HeOTOZ ¥R 4 ARADTY TTIRO 42 WO NYATT, észsacag ARONTY IJET
WOBRETY, ?

A) 40 B) 42 C) 44 D) 36

26. 8 3RS AABC obQ DE|IBC &z, AD/ AB ZRmomsmd

A)AD/ DB B) AE / EC - .
C) AE /AC D) AB/ EC

27. 33 w¥3ng AABC o9 4B =90°, AC =13cm, BC =5 cm, ©33 AB =

13cm

A)12cm B) 10cm

C) 9cm D) 13cm
28. AABC ~ APQR &35 @Rn¢ DLeerne oo 49 : 16 Tone ORDTRT NS

TS

A)7:9 B) 4:7 C) 7:4 D) 3:6
29. 3T wowdees Spdwr® £B =90°, BD L AC, AC = 9cm, AD = 4cm <33,

AB =

A)36cm B) 6cm
C) 9cm D) 4cm o
30. 32 ISNIYNEY SRT $FINH TWTRT $FINSY
a) O INENRD b) oy I C) oY SOPINW d) 9 BT RPN
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31

32.

33.

34.

35.

36.

37.

38.

39.

. 2OTD FZE 2,00 WPT; WOTLAIOT QLCHWTTRT BJFINY B0,
A)2 B) 1 C)3 D) 4
0 3comR¢ F33Q AP, PQ & QC Z3r3nsh. AP=4cm, QC = 6cm <38 PQ

TR
A) 6cm B) 8cm C) 10cm D) 12cm

u3RY 03e0nRY FITY P RBANCE WOmbIeE H¢E aom ITrIne: AP
& BP. 2 AOP =55° 3338 £ APB o3 ©99303%

A) 110° B) 70°
C) 90° D) 100°
AB =20cm 8@%930{555:& 5: 3 o2TSTY PNATS AC & CB

@U3Re FHan

A) 12 cm, 8cm B) 12.5cm, 7.5cm
C)13cm, 7cm D) 11.5cm, 8.5cm

33 :33EQ AABC on® £C = 90° &nd, 33 gz;m% %mﬁmds@ gﬁ»eowag A
tagom) WB0WD.

a)AB2=BC?-AC? b) AC%2=AB2+AC?
c)BC2=AB2+AC? d)AB2=BC2+AC?

2,00 BoBTTY, WIT T, BXTOSTTNILE woth FHIOTY FZoweR,
BOBAT TWW FE LVORTHEN BeJERAT FTIR)

(A) Bomas ©I (B) Z0% (C) 290m (D) Recd

2,00 200RT® PRIPOR 72 cm® ©NB. B3 200RTR I3 & W 2ITT WY3oDFe HTT &
T 2TTTRY, BROWTT JoBIN FTIFOR)

A) 72 cm?® B) 216cm’ C) 24 cm? D) 144 cm®

33 3UNT 2RCRAT FogIohY, I InT SHIDT ¥FFRAYT ed ¥rsHe SHINT Fene h SRS 233
SoBRT BReB3ICUNG. 33 aﬁm%éoﬁ TITOR).

nr?

A)”Trz [2r + h] =3 =9 B) — [r + 2h] =3 <oz

2nr?

C) [r+ h] o8 =03 D)"Trz[r+ h] 3 s%3

WOTH JOB|NT z;mﬁd gz:sﬁeéa 7cm & 2 cm, ¥T0 QTP 12cm &5
&8R80T wed T, ?.

A) 7cm B) 8cm C) 13cm D) 12 cm
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40. woth SRR RRCYRR, 30N 1ot BoB, FRTTING. TOVIT WET JuH AeYE Y IHIES
BoBas 2ITH

A) 8553 STTTXIDIT. B) &%3 R0R00IT
C) 85,0 TQTYHTS D) gwTde 203
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Mandya District SSLC Examination 2020- 2021 Model Question Paper - 01

by 9449627709
Subject : Mathematics Medium : English
Code No : 81E Time : 1 Hour
Total No of Questions : 40 Max.Marks : 40

Four Choices are give for each of the questions/incomplete statements.
Choose correct answer and shade the correct choice in the OMR given to you
with blue/black ball point pen .

40x01=40
1. nth term of arithmetic progression is calculated by using the formula.
A) an = a+(n-1)d B) an=a+(n+l)d C) Sn = %[2a+(n-1)d ] D) an =n
(n +1 )

2.If 2,x, 24 are in arithmetic progression then the value of x is..

A) 2 B) 24 C) 12 D) 13
3.The common difference of arithmetic progression 8, 5. 2, -1....... Is
A) 3 B) -3 C) 4 D 8

4. The sum of first 15 natural numbers is
A) 240 B) 150 C) 120 D) 225

5.Which of the following is not an arithmetic progression
11 1 1

A) == =, = B) 1,1,1,1, C) 5,3,1,-1.. D) -7,-5,-3,-1.
2°'4 6 8

6. In a triangle if the square of one side is equal to the the sum of the

squares of the other two sides then the angle opposite to the the first side is a

right angle.” this statement is known as

A) Thales theorem B) Pythagoras theorem
C)Converse of Thales theorem D) Converse of Pythagoras theorem

7.In A ABC ,< B =90° then which of the following statement is always true.
A)AB+BC=AC B) AB?=AC?*+CB?* C)AC?=AB?+CB? D) AB?-CB?*=AC?

8. Sides of triangles are given below ,then which of the following makes the
right angled triangle.

A)7cm, 8cm, 9cm B) 8 cm, 6cm, 10cm
C) 4cm, 8 cm, 10cm D) 7cm, 15cm, 17cm
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9.In the given figure if DE Il BC,if AD=4cm, BD=6cm ,AE=3cm then length

of ECis.
A

A)8 cm B)7.5cm C)10cm D) 4.5cm
10.The sides of two similar triangles are in the ratio 8 : 10,Then the areas of

these triangles are in the ratio.
A) 64:100 B) 16:20 C)100:04 D) 8:10

A) 3 B) 2 C) 4 D)
6

12.The modal class of the following frequency distribution is .

Class 0-10 |10- 20-30 | 30-40 |[40-50 |[50-60 |60-70
interval 20

Frequency |4 7 12 15 13 10 6

A) 10-20 B)20-30 C)30-40 D) 40-
50

13.The value of x and y for two equations x+y 8 and 2x- y=10
A) x=landy=4 B) x=6 andy=2 C) x=-6 andy=-2D) x=4 andy=1

15 The algebraical representation of “5 pencils and 6 pens together cost
rupees 62”. is
A)5x+6y+62=0 B) 5x+6y=60 C) 5x-6y=62 D)5x+6y=62
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16.Maximum number of tangents drawn from an external point to a circle is
A)2 B) 3 O)1 D)4

17. Radii of two concentric circles are are 5cm and 3cm respectively .The
length of the chord of the larger circle which touches the smaller circle is
A) 6cm B)10cm C)2cm D)8cm

18.In the following diagram tangent is.
Jo

el
\}{:
A
0 / I,-I

/

ay;
" — Y
D& 2] !

A)AB B)CB C)DE D)AC

I\,

I
!

E

19 .In the given diagram the length of tangent is 8 cm and radius is 6cm .
Then the distance of external point to the centre is .

A) 6cm B)10cm C)l4cm D)2cm

20.In the figure TP and TQ are tangents to a circle with centre ‘0" . If
£P0Q=110° then £PTQ is equal to

A) 70° B)90° C)80°  D)110°

21.The distance between the points P(4,3) and Q(7,7) is
A)2 units B) 3 units C)5 units D)4 units
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22. The distance of point P(a,b) from the origin is

A)Va? — b?) B) Va? + b?) C) Va? x b?) D) a+b
A) AB+BC=AC B) Area of AABC >0

C) AB X BC = AC D)AB+BC+AC=0

A) (2 ,6) B) (4 ,2) C) (2,4) D) (4,4)

25.Distance of the point A(3,7) from the x - axisis
A)11 units B) 7 units C)3 units D) 4 units

26.The general form of a quadratic equation is.
A)ax?+bx+c=0 B) ax?+by+c=0 () ax?+bx=0 D) ax?+bx+c

27. which of the following is a quadratic equation.
A) 5x=6 B) x+y=9 C) 7x2%+5x=6 D) x(x-1)= x2

28. The roots of quadratic equation (x-7) (x+3) =0 are

A)7.3 B) 3,-7 C)-7,-3 D) 7,-3

29.The formula used to find the curved surface area of frustrum of a cone
whose radiir; and r, and slant height [ is

A)rn(rtr)l B)yn(r, — 1)1 C)m(ryxry)l D) nrl

30.Two cubes of volume 64 cm3are joined end to end, the volume of the
resulting cuboid is.
A) 64 cm3 B) 128 cm3 C)32cm3 D) 60 ¢m?3

31. A cylinder and cone are of same base radius and of same height .Then the
ratio of the volume of the cone to that of cylinder is.
A) 2:3 B) 3:1 C) 1.2 D) 1:3

32.The curved surface area of a cone with base radius 7cm and slant height
is10cmis.
A) 1010cm? B) 100cm? C) 220cm? D) 440cm?

33. The emperical relationship between that three measures of central
tendency is

A) 3 mode + 2 mean = median B) mode + 3 mean = 4median
C) mode + mean= median D) 3 Medium= Mode+ 2 Mean
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34. The median of the scores 5,8 ,13, 18, 18,23, 26 ,28 is .

A)18 B) 23 )13 D)26
35.The upper limit of Class interval 15-25 is

A)18 B) 17.5 C)15 D)25
A) angle of elevation B) angle of depression

37. The angle of elevation of the top of the tower from a point 30 metres away
from its base is 45 ° then the height of the tower is.

A) 30m B)10m C)20m D)15v3 m
38. The value of sin42°-cos 48 ° is

A)1 B)O C)2V3 D) %

A) 3cm , 6cm B)1cm, 8cm C)7cm, 2cm D)6cm,3cm

40. If 5cos =3 then the value of sinf is.
2 5 4
A 3 B) Q) D)

N |-
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Mandya District SSLC Examination 2020- 2021 Model Question Paper - 02

by 9449510013
Subject : Mathematics Medium : English
Code No : 81E Time : 1 Hour
Total No of Questions : 40 Max.Marks : 40
1. If AABC is right angled at C then the value of secant (A+ B) is....
a)0 b) 1 c) 243 d) not defined.

2. If sind + cos® = V2 cosh, (690°) then the value of tand is......

a)V2-1 V2 +1  ¢)V2 d) V2
3.If sino = ¥3/2 and cosp = 0, the value of p-a is....

a) 0°. b) 90° c) 60° d) 30°
4.The value of of tan71°/cot19° is

a)l b) 2 c)0 d) can't be determined.

5. The angle of depression from the top of a tower 40m high ,at a point on the ground is 30°. The
distance of the point from the top of the tower is

a) 20m b) 40m c) 60m d) 80m

a) 7m b) 14m c) 21m d) 54m

7. Two concentric circles have a common centre O. The chord AB to the bigger circle touches the
smaller circle at P. If OP=3 cm and AB= 8 cm then, the radius of the bigger circle is

a)5cm b) 10 cm c) 16 cm d) 6¢c

8. The two tangents from an external point P to a circle with centre O are PA and PB. If ZAPB =70°,
then what is the value of ZAOB ?

a) 35° b) 110° c) 55° d)70°
9. 1f4,x,y,z are in AP then z =?

a) 19 b) 23 c) 22 d) cannot be determined.
10. What is the common difference of anAP in which s - al4 =327

a) 8 b) -8 c) 4 d) -4
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11. Which term of the AP 81,72, 63,....is0 ?
a) 8™, b) o™ c) 10" d) 11"

12. How many terms of the AP 3, 7, 11, 15,...... will make the sum 406?
a)10 b)12 c)14 d)20

13. The 7" term of an AP is 4 and its common difference is -4 .What is its first term?

a) 16 b) 20 c) 24 d) 28
a)135° b) 90° c) 60°. d) 120°
a) 8 b) 10 c) 11 d)12

16. The distance of a point P ( x, y ) from origin is.....

a) 0 b) x o)y d) /xZ + y2

17. The ordinate of a point A on Y-axis is 5 and point to B has coordinates( - 3,1).
The length of AB is....

a) 0 unit b) 5units C) 2 units. d) 25units
a) 2 b) 3 c)4 d)5
a)0 b) 63 c) - 63 d) 126

20. The sides of a triangle are 7 units, 24 units ,and 25 units ;then the angle between
the sides of 24 units and 7 units is

a) 30° b) 60° c) 120° d) 90°
21.AABC~ADEF. If the area of AABC is 100 m?, and the BC/EF=5 / 3, then the area of ADEF is

a) 50cm2. b) 25cm? c) 36cm? d) 9cm?
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a) equally . b) proportionally. c) inversely. d) unequally.

23. Which of the following is not a measure of central tendency
a) Mean b) Median c) Mode d) Standard D eviation

24. The abscissa of the point of intersection of less than type and of the more than type cumulative
frequency curve(ogive) of a grouped data gives its

a) mean b) median c) mode d) all the three above.

25. If the mode of the data :16,15,17, 16,15 ,x, 19,17 ,14 is 15 then x=0

a)l5 b)16 c)17 d)19
26. If th e arithmetic mean of :x ,x + 3 ,x+ 6, x+ 9 and x+12 is 10, then x=0&
a) 1l b) 2 c)6 d) 4
a) unique solution. b) no solution.
c) more than two solutions . d) infinitely many solutions.
28. The value of k for which the system of equations :x+y -5=0

and 3 x+ k y = 7 has no solution is
a)3 b) 2 o1 d) 4

29. The nature of the graph of the equationds6x -2y+9=0and3x -y+12=0is

a) parallel. b) always coincident.
c) intersecting or coincident . d) always intersecting.

31. The diameter of a sphere is 6 cm. It is melted and drawn into a wire of diameter 2 mm.
The length of the wire is

a)12m b) 18m c) 36m d) 66m
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32 A solid is hemispherical at the bottom and conical above. If the surface areas of the two parts are

equal, then the ratio of its radius and the height of its conical part is....

a) 1:3 b) 1:V3 ) 1:1 d)V3:1

33. The radii of the circular ends of a frustum are 6 cm and 14 cm . If its slant height is 10 cm

then its vertical height is
a) 6cm b) 8 cm c) 4 cm d) 7 cm
34. In aright circular cone, the cross-section made by a plane parallel to the base is
a) circle b) frustum of a cone c) Sphere d) hemisphere
35. If x=2 is a root of both the equation
3x?+2x+a=0and bx?+bx+12=0thenaXbis
a) 40 b) 32 €)22 d) 15
36. The quadratic equation 2x2-V5 x + 1 = 0 has
a) two distinct real roots. b) two equal real roots.
c) no real roots .d) more than two real roots.
37. A quadratic equation can have maximum...... zeros .
a)l b) 2 c)3 d) 4
38.1s -8 a solution of the equation 3x2+ 8 x + 2 =0?

a) Yes. b) no . c) cannot be determined. d) none of these.

39. The quadratic equation ax*+ bx+ c= 0 a#0,has two distinct real roots ,if
a) b2-4ac=0 b) b2-4ac>0 C) b2-4ac<0 d) none of these.
40. A shuttlecock used for playing badminton has the shape of the combination of

a) a cylinder and a sphere b) a cylinder and a hemisphere
c) a sphere and a cone d) frustum of a cone and a hemisphere
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Mandya District SSLC Examination 2020- 2021 Model Question Paper - 03

by 9449510013
Subject : Mathematics Medium : English
Code No : 81E Time : 1 Hour
Total No of Questions : 40 Max.Marks : 40

1. Inan AP, if the common difference (d) = -4 and the 7" term is( a7) is 4,
then the first term is......

a) 28 b) 26 c) 24 d) 22
2.1fk-1, k+3and 3 k-1arein AP ,then the value of kK is....
a) 2 b) 4 c) 6 d) -4
3. Which term of the AP 21, 42,63,84 ,......is 210?
a) 6" b) 8" c) 10" d) 14
4. The sum of all natural numbers from 1 to 100 is
a) 2020 b) 3030 c) 4040 d) 5050
5. How many terms of AP 18, 16,14,.....should be taken so that their sum is zero?
a) 19 b) 21 c) 23 d) 25
6. In a Trapezium ABCD, AB||DC parallel and diagonals AC and BD intersect at O.
If AO=(3x-1)cm, BO=(2x+1)cm , OC=(5x-3)cm and OD=(6x-5) cm, then the value of x is
a) 2 b) 3 c) 2.5 d)3.5
7.In A ACD, AB=8cm, BC=3cm and BE||CD, then Ar(A ABE) /Ar(gl.BCDE) =
a) 8/11 b) 64/57 c) 11/8 d) 57/64

8. Two poles of height 6m and 11m stand vertically upright on a plane ground. If the distance
between their feet is 12m, the distance between their tops is

a) 12m b) 14m c)13m d) 11m

be parallel? 3x-y-5=0, 6x-2y-p=0;

a) all real values except 10 b) 10 c) 5/2 d1/2.
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11. The pair of equations x=0 and x=3 has

a) one solution b) two solutions c) infinitely many solutions d) no solution

The second equation can be
a)12x+14y+4=0 b) -12x-14y+4=0 c)-12x+14y+4=0 d) 12x -14y= -4

13. At one end A of a diameter AB of a circle of radius 5cm, tangent XAY is drawn to the circle. The
length of the chord CD parallel to X Y and at a distance 8 cm from A is

a) 4cm b) 5cm c) 6cm d) 8cm

then the length of each tangent is

a)3cm b) 6cm c) V3em d) 3V3cm
a)2:3 b)2:5 C)2:7 d)7:2
a)45° b)90° c)120° d)180°

17. If the point C (k,4) divides the join of points A ( 2, 6) and B (5,1) in the ratio 2:3,
then the value of k is....

a)5/16 b)16/5 c)16 d)5
18. If the distance between the points (4,p) and (1,0) is 5 then p=?

a) 4. b) -4 C) +4 d) 0

a)l b)- 1 )+l d)o

20. Area of the triangle formed by the points P(-1.5,3),Q(6,-2) and R(-3,4) is
a)0 b) 4. c) 6. d) 8

21. The roots of the quadratic equation 2x2-x-6 =0 are

a)-2,32  b)2,-32 ¢)-2,-32 d)232
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22. The perimeter of a rectangle is 82m and its area is 400 m2. The breadth of the rectangle is
a)25m b)20m c)l6m d)9m

23. The roots of the equation 2x?>- 6 x + 3 =0 are
a) real, unequal and rational. b) real ,unequal and irrational .
c)real and equal. d) imaginary.

24. If the equation 9x? + 6kx + 4=0 has equal roots then k=I ?
a) 2or0 b) - 20r 0 c)2or-2 d) 0 only

25. If one root of the equation x* - 4x + 4 = 0 is 2 then another root is
a) 2 b) -7 c)7/2 d)-71/2

26. If secO + tan6 =x then tan6 =?
a) (+1)/x.  b) (x*-1)/x  c) (x*+1)/2x. d) (x>-1)/2x

27. If sinf = (cos20 - 45°), then the value of tan® is
a) 12 b) 1 c) V3/2. d) 0

28. 2tan30°/(1+tan230°) equals
a) tan60° b) cos60° C) sin60° d) sin30°

29. SINX. COSX. tanX . = ---------=--mmmmmmmmmm-

a) tan’x b) cos®x c) sin®x d) sinx

30. If the height of a vertical pole is equal to the length of its shadow on the ground,
the angle of elevation of the sun is

a) 0° b) 30° c) 45° d) 60°

31. The angle of depression of a car part on the road from the top of a 150 m tower is 30° the distance
of the car from the tower is

a) 50V3m b) 150V3m c) 150\2m.  d) 75m

32. In a frequency distribution ,the mid value of a class is 20 and the width of the class is 12 .
The upper limit of class interval is

a)12 b)17 c)16 d) 26

33. A set of numbers consists of three 4's, five 5's, six 6's,eight 8's, seventeen 10's and nine 20's.
The mode of this data is

a)8 b) 20 c) 10 d) can't be determined.
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34.1f the difference between mode and median of a data is 38,
then the difference of median and mean is
a) 19 b) 28 c) 21 d) can't be determined.
35. Construction of cumulative frequency table is useful in determining the

a) mean b) median c) mode d)all of the above
36. Two cones have their heights in the ratio 2: 3 and radii in the ratio 5:2.
The ratio of their volume is
a) 25/6 b) 5/3 C)5/6 d)25/3
37. A circus tent is cylindrical upto a height of 4m and conical above it. If its diameter is 105m
and its slant height is 40m , the total area of canvas required to build the tent is
a) 7920m2  b)7820m2  c) 9720m2.  d) 2645m2

38. The radius of a sphere is r cm .1t is divided into two equal parts ,then the whole surface of the two
parts is....

a) 2mr? b) 3nr? C) 4nr? d) 6mr?

39. The slant height of a frustum of a cone is 4 cm and the perimeter of its circular ends are 18 cm and
6cm respectively; then the curved surface area of the frustum is

a) 24cm? b) 247tm? C) 48mz. d) 48mm?

40. The number of solid spheres of diameter 6cm that can be made by melting a solid metallic
cylinder of height 45 cm and diameter 4 cm is

a) 10 b) 8. ¢) 5. d) 7
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Mandya District SSLC Examination 2020- 2021 Model Question Paper - 04

by 9449510013
Subject : Mathematics Medium : English
Code No : 81E Time : 1 Hour
Max.Marks : 40

1. If the slant height of a frustum of a cone is 10 cm and the height of the frustum is 8 cm,
then the difference of the radii of its two circular ends is

a) 6cm b) 9cm c) 12cm d) 36cm

2. Three solid metallic spherical balls of radii 3cm, 4cm and 5¢cm are melted into a single spherical
ball; then the radius of the resultant(new) spherical ball is...

a) 8cm b) 5V5cm c)3V3cm.  d)6cm

3. A cylinder ,a cone and a hemisphere have same base and same height; then the ratio
of their volumes is...

a) 1:2:3. b) 3:2:1 c) 3:1:2. d) 2:3:1
4. A rectangular sheet of paper 40 cm X 22 cm is rolled to form a hollow cylinder of height 40 cm;
then the radius of the cylinder is
a) 7cm. b) 3.5cm c) l4cm. d) 21cm

5. A metallic cylinder of radius 8 cm and height 2 cm is melted and converted into a right circular
cone of height 6cm. The radius of the base of this cone is

a) 4cm b) 5cm Cc) 6cm d) 8.cm
6. The class mark of class: 10 - 25 is
a) 10 b) 25 c) 17.5 c) 35
7. Given that mean of five numbers is 27.1f one of the numbers is excluded, the mean gets reduced
by 2, then the excluded number is

a) 135 b) 25 ¢) 100 d) 35

8. If the median of a series exceeds the mean by 3, find by what number the mode exceeds its mean?

a)9 b) 12 c)7 d)8
9. If the median of the data 4,7,x-1, x-3, 16,25,written in ascending order, is 13 then X is equal to

a) 13 b) 14 ¢) 15 d) 16
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10. A ladder, leaning against a wall, makes an angle of 60°with the horizontal. If the foot of the ladder
is 2.5m away from the wall, then the length of the ladder is...

a) 7.5m b) 5m C) 2.5m c) 3m

11. If the length of the ladder placed against a wall is the twice the distance between the foot of the
ladder and the wall ,then the angle made by the ladder with the horizontal is

a) 30° b) 60° c) 45° d) 90°
12. If sinA=to 3 /5 ,then the value of tanA is....
a) 4/5 b) 5/3 c) 3/4 d) 4/3
13.The value of sinf.cos6.tan6.cotf.secH.cosech is.....
a)l b) 0 c) not defined d) none of these
14.The value ofsin®0+sin?(90-0) is...
a)0 b) 1 ) 1N2 d) can't be determined
15.The value of secA(1-sinA)(secA+tanA) is.....
a) 1/2 b) 2 c)1l d) 1/3
16.The vertices of a triangle are (-2, 0), (2, 3) and (1, -3) then the type of the triangle is a/an

a) right triangle . b) equilateral. c) isosceles. d) scalene.

17.The area of the triangle whose vertices are (a,a), (a +1, a+ 1), (a+2, a) is

a) a3 b) 1 C) 2a d) 2%

a) | Quadrant. b) 1l Quadrant . c) Il Quadrant . d) IV Quadrant.
19.The distance of a point P(-3, -4) from X- axis is
a) 3 b) -3 c) 4 d) 5
20. If one root of the equation x>+ a x + 3 = 0 is 1 then the other root is
a)3 b) -3 c) 2 d)-2
21. If ax?+bx+c=0 has equal roots, then ¢ =
a) -b/4a b) b/da C) -b?%/4a d) b?/4a
22. Which of the following equations has 2 as a root?
a)x-4x+5=0 b) x2+3x-12=0 C) 2x2-7x+6=0 d) 3x2-6x-2=0
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a) 4 b) 8 c) 12 d) 16

24. If Bba werey ounger by 5 year than what she really is, then the square of her age (in years) would

have been 11 more than five times the actual age  her age now is....

a) 8 years b) 10years c) 12years

25.A segment AB is divided at point P such that P B /AB =3/7, then the ratio AP:PB is

a) 3:7 b)7:3 c)4:3

a) 90° b) 75° c) 105° d) any obtuse angle

27. A quadrilateral ABCD is circumscribed, touching the circle at P, Q, R and S. If AP= 6cm, BP=5

cm, PQ=3cm and DR=4 cm ,then perimeter of quadrilateral ABCD is

a) 18 cm b) 27c m c) 36cm d) 22cm

28. PQ is a tangent at point R of a circle with centre O and diameter AB. If QRB =30°, then

equal to...
a) 30° b) 90° c) 120° d) 60°

29. If 47x+31y=18 and 31x+47y=60, then x+y =?

a) 78 b) 42 c)l d)-1
a) 6 b) 7 c)8 d)9

a) infinitely many solutions . b) 2 solutions.
C) no solution d) 1 solution
a) 1/2 b) 1/2 c)2 d) -2

33. Given AABC~APQR,if AB/PQ=1/3, then area(AABC / area(APQR) = ......

a) 1/9 b) 9/1 c) 1/6 d) 6/1
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34.1f AABC~ARPQ, AB=3cm, BC=5cm, AC=6¢cm, RP=6cm and PQ=10cm, then QR=...
a) 10cm b) 10.5cm c) 12cm d) 12.5cm
35. If in an equilateral triangle the length of the median is V3 cm,
then the length of the side of equilateral triangle is..
a) 3cm b) 3\3cm c) 2\2cm d) 2cm
36. If the n™ term of an AP is ( P, + () then its common difference is
ap b) q c)n d) 0
37.1f 3.5,a, b, 0.5 are in AP then the value of (a+b)/2 is
a)l b)2 c)3 d)4
38. Sum of first 25 odd natural numbers is
a) 125 b) 225 c) 625 d) 325
39.In an AP if S5=35 and S,=22 , then the fifth term is
a) 35 b) 22 c) 13 d) 10
40. The sum of three numbers in an AP is 6 and their product is also 6 ,then the numbers are

a) 0,2,4 b) 0,2,3 0) 1,2,3 d) 2,2,2
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Mandya District SSLC Examination 2020- 2021 Model Question Paper - 05

by 9449627709
Subject : Mathematics Medium : English
Code No : 81E Time : 1 Hour
Total No of Questions : 40 Max.Marks : 40

Four Choices are give for each of the questions/incomplete statements.
Choose correct answer and shade the correct choice in the OMR given to you
with blue/black ball point pen .

40x01=40
1. Sum of n terms of arithmetic progression is calculated by using the
formula.
A) an = a+(n-1)d B) an=a+(n+1)d
C) Sn = “{2a+(n-1)d] D) an=n (n +1 )

2.How many two digit numbers divisible by 4 is..
A) 21 B) 24 C) 25 D) 22

3.The common difference of arithmetic progression v/a, 2+v/a, 3+a,4+a, ..... is

A) Va B) -1 C) 1 D)2vVa

4. If 10 th term of an arithmetic progression is 20,then sum of first 19 terms is .
A) 190 B) 380 C) 210 D) 220

5.If X, y and z are in arithmetic progression then

A y= =2 B) ) x= &£ Q) z= =2 D)
X.zZ=y
6.In AABC,<B=90° and <ADC=90° then AD is

A
B D
| [e— 4 crm

16 cm

A) V48 cm B) v40 cm C) 8cm D)20cm
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7.In the figure XY||BC , if AX= 5cm ,AB=15cm and AY=4cm
then the length of AC 1is

B > C
A)l0cm B)12cm C) 8cm D)12.5cm
8.In APQR if <Q=90°,PQ=6cm, PR=10cm then QR is
A)10cm B) 12cm C) 8cm D)12.5cm

9.The areas of two similar triangles are in the ratio 81 : 100.Then the sides of
these triangles are in the ratio.

A) 8:10 B) 16:20 C)10:9 D) 9:10

A) 3 B) 2 C) 4 D) 6
11. The value of x and y for two equations 2x+3y= 8 is

A) x=1landy=4 B) x=6 andy=2C) x=-6 andy=-2D) x=1 andy=2

A) xt+ty= 7 , 2x-2y= 14 B) x+y= 7 , 2x+2y= 13
C) x-3y=9 ,3x+t6y=7 D) 3xt+t4y=10 , 6xt8y=20

A) One solution B) no solution C) infinitely many solutions D) two solutions

14.The lengths of tangents drawn from an external point to a circle are .

A) parallel B) equal C) perpendicular D) unequal

bkl QOTITICF BT 336D, TOBEHAT 330 QUDS, OB, BY, WOW, 2020 — 2021 wrrwbrmisiiti

93



15.Maximum number of parallel tangents that a circle can have.

A) one B) two C) finite D) infinite

16.The length of tangent drawn from an external point 13 cm away from centre

of a circle of radius 5cm is
A)1l cm B) 13 cm C)12 cm D)8cm

17.In the given figureAP and BP are tangents then <APB is

A) 60° B) 50° C)70 ° D)30°

A) 3cm, 9cm B)2cm, 8cm C)7cm, 3cm D)6cm,4cm

19 .The area of triangle whose vertices are (1,0) (0,1) and (1,1) is
A) 2 square units B) - % square unit C) 1 square units D) % square units

20. The distance of point P(6,8) from the origin is
A) 12units B) 14units C) 10units D) 2units

A) Area of AABC =0 B) Area of AABC >0
C) Area of AABC <0 D) Area of AABC =0
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22.A student constructed a AABC with sides AB=6cm, BC=8cm ,AC=10cm.

Then constructed a AADE similar to AABC ,such that each sides are 32 of the

corresponding sides of AABC. The length of AE and DE obtained by
calculations are respectively equal to.

E

A) 12cm, 9cm C)7cm, 3cm

B)2cm, 8cm

D)9cm,12cm

23.The lower limit of median class of the following frequency distribution is .

Class 0-10 |10- 20-30 | 30-40 |40-50 |50-60 |60-70
interval 20

Frequency |4 6 12 15 13 10 6

A) 10 B) 30 C) 20 D) 40

24.During conversion of a solid from one shape to another ,the volume of the
new shape will.

A)increase  B) be doubled C) remain same D)decrease

25.1f two hemisphers of same base radii r are joined together along their
bases,then total surface area of this new solid is.

A) 4mr? B) 6mr?

C) 8mr? D) 3nr?
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26.The discriminant value of a quadratic equation is.

A) a? — 4bc B)b?—4ac C) ¢c>?—4ab D) b?-2ac

27. which of the following is a quadratic equation.

A) 5x-7y = 6 B) x+y=9 C) (x+7)(x-1)=0 D) (x+7)(x-1)= x?
28. The roots of quadratic equation x?>+5x+6=0 is

A 4.3 B) 3,2 C)-2 ,-3 D) 2,-3

29.The formula used to find the total surface area of cylinder is
A)2nrl B)2nr(r+h) C)m(r+r,)!l D)nrl

30.A metallic sphere of radius 9cm is melted and recast into the shape of a
cylinder of same radius as sphere ,then the height of the cylinder.

A) 9cm B) 14cm C) 10cm D) 12cm

31. A cylinder and cone are of same base radius and of same height .If volume
the cone is 60 ¢m?3 then the volume of the cylinder is.

A) 120 cm?® B) 180 cm® C) 100 cm® D) 60 cm?

32.The curved surface area of a frustrum of cone with base radii are 4 cm,
6cm and slant height 7 cm is .

A) 110cm? B) 100cm? C)220cm? D) 440cm?

33. If the mean and mode of some frequency distribution are 10 and 13
respectively then median is

A) 11 B) 12 C) 13 D) 10

34. The mode of the scores 5,8,13,18,13, 18, 18,23, 26 ,28 is .
A)26 B) 23 C)13 D)18

35.The value of tan48°tan23°tan42°tan67° is

A) 1 B) 2 C) 3 D)0
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36.The sum of two numbers is 25 and product is 154.Then the numbers are
A) 11 ,14 B) 12 ,13 C) 16,9 D) 14,10

37. A tower stands vertically on the ground .From a point on the ground ,
which is 15m away from the foot of the tower , the angle of elevation of the top
of the tower is found to be 60 °, then the height of the tower is.

A) 30m B)10m C) 15v/3 m D)15 m
2
38. The value of —2 2
1+cot< A
A) 1 B) cot? A C) cos? A D) tan?A

39.The value of sin60°cos30° +sin30°cos60°

A) 2 B) 1 C)3 D) 0

40. If 12 tan@=5 then the value of sinf@ is.

5
A B) % Q)

ut |

D)
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KEY ANSWERS FOR KANNADA MODEL PAPERS
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